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using A6;

using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A6.Tests
{
[TestClass()]
public class GradedTests
{
[TestMethod(), Timeout(1000)]
[DeploymentItem("TestData","A6 TestData")]
public void SolveTest()

{
Processor[] problems = new Processor[] {
new MoneyChange("TD1"),
new PrimitiveCalculator("TD2"),
new EditDistance("TD3"),
new LCSOfTwo("TD4"),
new LCSOfThree("TD5")
b3
foreach(var p in problems)
{
TestTools.RunLocalTest("A6", p.Process, p.TestDataName);
¥
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A6

{
public class MoneyChange: Processor
{
private static readonly int[] COINS = new int[] {1, 3, 4};
public MoneyChange(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(instr, (Func<long, long>) Solve);
public long Solve(long n)
{
//Write your code here
return ©;
}
}
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A6

{
public class PrimitiveCalculator: Processor
{
public PrimitiveCalculator(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(instr, (Func<long, long[]>)Solve);
public long[] Solve(long n)
{
//Write your code here
return new long[] { @ };
}
}
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A6

{

public class EditDistance: Processor

{
public EditDistance(string testDataName) : base(testDataName) { }

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<string, string, long>)Solve);

public long Solve(string strl, string str2)
{

//Write your code here
return ©;
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A6

{
public class LCSOfTwo: Processor
{
public LCSOfTwo(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(instr, (Func<long[], long[], long>)Solve);
public long Solve(long[] seql, long[] seqg2)
{
//Write your code here
return ©;
}
}
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A6

{
public class LCSOfThree: Processor
{
public LCSOfThree(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(instr, (Func<long[], long[], long[], long>)Solve);
public long Solve(long[] seql, long[] seq2, long[] seq3)
{
//Write your code here
return ©;
}
}
¥
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